L
11
(population)
cadaveric - living related tacrolimus
(sample population)
cadaveric living related tacrolimus
(sample)
111
L 15
2. 1 tacrolimus ,  primary prophylactic rescue therapy
3
3. L metabolism tacrolimus
cytochrome P450 (CYP) 3A4 isoenzymes prednisolone
2
4, tacrolimus - 2
5. ]

total protein, globulin, albumin, total bilirubin, direct bilirubin, SGOT,
SGPT, alkaline phosphatase

112
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12
13
15
2.
tacrolimus 1
2 2 12
morning trough level 5-15 / ol
2
whole-blood tacrolimus level
(CO) 1(C) 2 (C2), 4 (CAH16 (C6), 8 (Co)
2((2
6 EDTA 2 3

microparticle enzyme immunoassay using monoclonal antibody (IMx Tacrolimus Il assay;

Abbott Laboratories, Abbott Park, IL) 2
( C2 upper limit
IMx Tacrolimus Il assay 30 / 2
1 2 dilute 1 dilution
reagent (IMx Tacrolimus I MODE 1 Calibrator)
dilute upper limit
dilute ( dilution factor 2 ) dilute

upper limit dilute
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completed AUC tacrolimus

( 13 5)

Completed AUC = AUCQL+ AUC, 2+ AUC2\+ AUCA6+ AUCYg+AUCG.2 (1)
= (VU X (00+0,)12 + ((2{D X (C,+C2)2 + (1412 X (C2+C4)2
+ (1614 X (CA+CEI2 + (1816) X (C6+CHI2 + ({I2B) X (C6+C212 (2)

- AUC ; / (hr. ng/ml) t
(hn) C, t / (ng/ml)
t 2
Completed AUC =0.5Co+ 1+15C2+2C4+2C6+3C8+2CL (3)

Completed AUC

1 (ng/ml)

20 +

Whole-blood tacrolimus leve

Time (hr)

5 completed AUC
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tacrolimus completed AUC
r (correlation coefficient)  r2(coefficient of determination)
abbreviated AUC
L (stepwise multiple linear regression analysis)
completed AUC
(dependent variable) tacrolimus
(independent variable) completed
AUC
Abbreviated AUC = a+ bCx+ cCY+ dC2+ ...... (4)
'a b, ¢, d XY, Z
2. (linear trapezoidal rule)
completed AUC CoCHtC4 c,2
1 (6 completed
AUC 1
Abbreviated AUC
% 10 }\
( 1 2} 4 i ! i
Time (hr)
6 abbreviated AUC

T-2 0° %5 200
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5-7 abbreviated AUC cocucsa cCo

Abbreviated AUC =AUCOH AUC, 4+ AUC4AD (5)
=( 40) X (CO+CD2+( - ) X(C,+CAR2 +( 2 )X (CA+C1)2 (6)

t 6
Abbreviated AUC =0.5Co+2C, +5.5C4 + 4C,2 (7)
(steady state) C0 , C2
co C.2 7
Abbreviated AUC =4.5C0+2C, +5.5C4 8)
abbreviated AUC
completed AUC (r 2)
completed AUC percentage of absolute prediction error (APE%)
APE% = [(abbreviated AUC - completed AUC)| / completed AUC X 100%
abbreviated AUC r>0.95, r2

>09 range  APE%  15%@
mean + SE percentage
p-value < 0.05 SPSS 10.0
for Windows
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